Z 3 U 9 MH(2x2)
SAY A= T Al T2(B837) AESA ;AL EA(12XH2)
- = 2 cro o o = o ISECIp) NEPIRSE=E Jd=H E3=% &=
et I 9 e I 9 = 9 = = 9
1. M FOIAH| 259,338,902 - 196,614,127 62,724,775 - 259,338,902 |100.00%
JF) A==0124 8| 208,486,950 - 157,291,302 51,195,648 - 208,486,950 |100.00%
&2l Ab =] 190,865 325 62,031,125 261 49,815,765 12,215,360 325 62,031,125 |100.00%
2 2l Al = 147,327 180 26,518,860 116 17,089,932 9,428,928 180 26,518,860
22 AME 2 115,435 1,039 119,936,965 783 90,385,605 29,551,360 1,039 119,936,965 |100.00%
LH) "l A ol24y| AFZ=0121H]%20/80 Al 1 50,851,952 1 39,322,825 11,529,127 1 50,851,952 |100.00%
2. M & 4l X EOI24H[x0.65 4| 1 168,570,286 1 127,799,182 40,771,104 1 168,570,286 |100.00%
3.0 = & oI+ A H)*0.124 Al 1 52,830,838 1 40,121,821 12,709,017 1 52,830,838 |100.00%
4, BHZH| 109,117,950 - 84,164,849 24,953,101 - 109,117,950 |100.00%
oh = M ol & ==0124H(+0.3 Al 1 62,546,085 1 47,187,390 15,358,695 1 62,546,085 |100.00%
L& & 4l HI &k =01 24H]%0. 1 4] 1 5,085,195 1 3,932,282 1,152,913 1 5,085,195 |100.00%
ChH X xte s Xd] = 701,601 13.00 9,120,813 10.44 7,324,714 1,796,099 13.00 9,120,813 [100.00%
ch) XIS 2 647,846 13.00 8,421,998 10.44 6,763,512 1,658,486 13.00 8,421,998 |100.00%
ah Xl AFRE 2012 =) 1,651,136 12.20 20,143,859 9.64 15,916,951 4,226,908 12.20 20,143,859 |100.00%
gh) & A QI H| 3,800,000 - 3,040,000 760,000 - 3,800,000 [100.00%
=I)E0AM 3| 760,000 5 3,800,000 4 3,040,000 760,000 5 3,800,000 [100.00%
SEE A 3| 2,200,000 - - - - - - -
HEEOAM 3| 760,000 - - - - - - -
2 H(1+2+3+4) 589,857,976 - | 448,699,979 141,157,997 - 589,857,976 |100.00%
5. 2JIHS(E/S) 584,040,910 - 450,630,910 133,410,000 - 584,040,910 |[100.00%
23 SItHS(E/S) 6.69% 39,460,000 - 29,810,000 9,650,000 - 39,460,000 |100.00%
33 2ot S(E/S) 13.22% 83,190,000 - 62,850,000 20,340,000 - 83,190,000 |100.00%
M43 SItHS(E/S) 6.14% 43,740,000 - 33,050,000 10,690,000 - 43,740,000 |100.00%
M523 2ot S(E/S) 5.56% 42,040,000 - 31,760,000 10,280,000 - 42,040,000 |100.00%
63 SIHS(E/S) 4.29% 34,240,000 - 25,870,000 8,370,000 - 34,240,000 |100.00%
M73 2ot S(E/S) 3.35% 27,880,000 - 21,070,000 6,810,000 - 27,880,000 [100.00%
H83| SItHS(E/S) 4.19% 36,050,000 - 27,230,000 8,820,000 - 36,050,000 |100.00%
M9zl 20t S (E/S) 3.17% 30,800,910 - 23,860,910 6,940,000 - 30,800,910 |100.00%
M 108 2ItHS(E/S) 3.08% 41,630,000 - 34,670,000 6,960,000 - 41,630,000 |100.00%
H113] 201HS(E/S) 5.94% 82,780,000 68,930,000 13,850,000 - 82,780,000 |100.00%
M123| It S(E/S) 3.40% 57,410,000 49,020,000 8,390,000
133 21 S(E/S) 4.98% 55,230,000 42,510,000 12,720,000
M 143 2ItHS(E/S) 3.73% 9,590,000
6. 32 ItH(1+2+3+4+5 1,173,898,886 - 899,330,889 274,567,997 - | 1,173,898,886 |100.00%
7. 2ILIEXIAI 117,389,888 - 89,933,088 27,456,800 - 117,389,888 |100.00%
8. ZolEHE0HE &I 4 168,711,226 - 200,736,023 32,024,797 - 168,711,226 1100.00%
s 1,460,000,000 - | 1,190,000,000 270,000,000 - | 1,460,000,000 |100.00%




